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QID : 201 - In the following question, select the related word from the given alternatives,
Tulip : Hower : : Lady finger : ?
et o 7 fm o frreat o 7 wwti aer s g

e s fiEt e 2
Options:

1) Green

sl

2) Fruit

T

3) Vegetable

AT

4) Round

e

Correct Answer: Vegetable
AT

Candidate Answer: [ NOT ANSWERED |

QID : 202 - In the following question, select the related letters from the given alts~ atives,
AICK :LDIJMG : : TRIP : ?

FrafofErer mr 5 Fo e Rreeat = # wEite e g

AICK :LDIJMG : : TRIP : ?

Options:

1) OHQS

2)QlsuU

3)QHsU

4) OHSU
Cormrect Answer: QJSU L
Candidate Answer: [ NOT ANS.. _7=& |

L

QID : 203 - [n the following question, select the related number from the given alternatives.
34:12::29:7?

et ser 7 Fy iy et & & wEfue s 5

34:12::29:7

Options:

1) 18

2)20

3)23

a4)17
Correct Answer: 18
Candidate Ancwar: 18



QID : 204 - [n the following question, select the odd word from the given alternatives.

Frafefer wr & R ar freedt § & Brow sre 1 g™
Options:

1) Horse

areT

2) Deg

=

3) Peacock
AT

4) Cat
T

Correct Answer: Peacock
|

Candidate Answer: [ NOT ANSWERED ]
QID : 205 - In the following question, select the odd letters from the given alternatives.

e w5 fr o et 5 7 Frow sraet wgREm
Options:
1) FMTA

2) AGMS
3) GMSY

4) DIPY

Correct Answer: FMTA

Candidate Answer: [ NOT ANSWERED ]

QID : 206 - In the following question, select the odd number from the given alternatives.

et w5 fr o Freeat = 71 Frry w11 g™
Options:
1) 19

2)23
3) 31

4) 49
Correct Answer: 49
Candidate Answer: [ NOT ANSWERED ]

QID : 207 - In the following question, select the odd nun ber from the given alternatives.
et w5 Fr o Breeat = 71 Frrs sy o 55

Options:

1) 16

2) 64

3) 36

4) 84
Correct Answer: 84
Candidate Answer: 84



QID : 208 -
How many triangles are there in the given figure?

g1 wmé spTr # R froger ¥

Options:
1)6

2)7
3)8

4)9
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

QID : 209 -
How many rectangles are there in the given figure?

& e IMEa A foperer e ¥2

Options:
1)7

2)8
3)9

4) 10
Correct Answer: 8
Candidate Answer: 8

QID : 210 -
Twao positions of a cube are shown below. What will
come opposite to face containing ‘3'?

&= T wer #T & T e e ¥ 3 g
Foleh & TaOdIa AT HTHIM?




Options:
1)7

2)5
3)6

4)9
Correct Answer: 5
Candidate Answer: 5

QID :211-
Three positions of a cube are shown below. What
will come opposite to face containing ‘4’7

& oo uer Fr N aww gl = #1043
Feren o TOOda T TR

Options:
1)3

2)7
3)2

4)6
Correct Answer: 7
Candidate Answer: 7

QID :212- - )
If a mirror is placed on the line AB, then v nich of the
answer figures is the right mirror image o1 tae given
figure?

afE oo gUur # AB Y@r wy T@i A, dr & i
IO MGl A | @dfn T NP UH G &
& TooT afafEeT @

=




Options:
1)

2)

3)

4)

\
e

Correct Answer:

o—0O—»

Candidate Answer:

+—O—a

QID : 213 -
Which answer figure will complete ti & pattern in the
question figure?

Bl "W 3T MNPl T 2GS & Uoed @ O

w4
-q;—?




Candidate Answer:

QID : 214 -
A piece of paper is folded and purched as shown
below in the question figures. ~rem the given
answer figures, indicate how it Il appear when
opened?

e o uH Npfae ® R 3EER G @
HAZFT Ted FUT Wioww & alg a¢ Tobw IHL NPT
s Rars am?




Options:
1)

oooo

oooo

2)

oo

3)

ooog

1)

oo

ag

Cormrect Answer:

oooo

Candidate Answer:

| = =]

QID : 215 -
In the following question, select the number which
can be placed at the sign of ques ien mark (?) from
the given alternatives.

FPreaffE oy 3 R - RBwea 33 & ow Be
(?) & FUE W I ared FE@ FH gaw

6 5 5
[2]59]8] [3]43]4a] [6]2] 3]
7 6 8
Options:
1) 53
2)59
3) 69
4) 73

Correct Answer: 59
Candidate Answer: 59



QID : 216 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word,
SHOULDERING

Fraforfre Reedi # ¥ = orez TR A B my srer & qere w1 9=0T F0E TE A A e

SHOULDERING
Options:

1) SIGNED

2) LOUDER

3) SLANG

4) ROSE

Correct Answer: SLANG
Candidate Answer: SLANG
QID : 217 - Identify the diagram that best represents the relationship among the given classes.

Sun, Moon, Universe
=g AT e A Fry Gy = A A v e R w3
T, SwHT, A

Options:
1)

9/l&)

4

e

3

Correct An

Candidate Answer: [ NOT ANSWERED ]



QID : 218 -
In the given figure, how many white shoes are not tight?

& og gt A, Reed Wk S oW gu a9 ¥

Tight /
FH U

Options:
1)7

2) 16
3)9

4)13
Correct Answer: 7
Candidate Answer: [ NOT ANSWERED |

QID : 219 - In the following question below are given some statements followed by som -~ .onr .sions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decifle . Sicn «i the given conclusion logically follows the given statements.

Statements:
I. Some blue are black.
II. Some red are blue.

Conclusions:
L. Some black are red.
II. Some blue are red.

A=y Fory o ovex F oy o e SAE AT T FAT 07 qrat ¥ g P @ #) @ st £ wdr v, |y s aerer wve Aot & frsmr dn wdy e o e e
P =% & oo $= a7 B, R et w200 gEEmE R

Fq:
L = Ao srer
11, = =rrer e &1

e

L g wrer mrer §)1

11. 5 Hier emer 31

Options:

1) Only conclusion (I) follows.

et Pt (1) it

2) Only conclusion (II) follows.

T P (1) wrdt &

3) Both conclusion follow.

==t 1 e e 3

4) Neither conclusion (I) nor conclusion (II) follows.
= AT et (1) = & Fresed (1) ot &0

Correct Answer: Only conclusion (II) follows.
T e (1) = 21

Candidate Answer: Only conclusion (I) follows.
ey e (TY ot 3



QID : 220 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decide which of the given conclusion logically follows the given statements,

Statemenls:
1. All doors are walls.
II. No wall is chair,

Conclusions:
1. Some chairs are doors.
1I. All walls are doors.

A forr T W g e st T A I Ty o anarter e Gt B e §) B s wmaet o wd w, S e e ser wreat # P gn wdft Pt o s fe
Frartfrer =% fir o o ey 7 Presed, Fom o sremnt & s O g

YT

L #rdft =t S F

1. =% e it =t i

e

L e FiFar =vemw )

II. #r<fr e =rarar 3

Options:

1) Only conclusion (1) follows.

T Freed (1) wf 30

2) Only conclusion (II) follows.

T et (1) =t 21

3) Both concdlusion follow.

=T FT e

4) Neither conclusion (I) nor conclusion (II) follows.

= AT et (1) = it e (1) =it &

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
= = Tt (1) = &t Bt (1) =t &)

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

= AT Freet (1) =7 Bt (1) oo 3

QID : 221 - Amit is brother of Sumit. Sumit is the son of Pankaj. Pankaj is the fat' er a* Mayank. How is Mayank related to Amit?

wafer, e w1 A 31 Aqfes, oFw w7 O ) O, 5 w7 A f)0owe, ﬁ:rr'%‘rm aperferT 27
Options:

1) Uncle

==

2) Brother

g

3) Son

™
4) Father
o

Correct Answer: Brother

)

Candidate Answer: Brother
AT

QID : 222 - Pointing towards - 'ad. Aman said, "She is the mother of my daughter’s son." How is Aman related to that lady?

T W 1 S wE WA g, e A, ey WA O e o A i) e e wigen # e e s 2
Options:

1) Brother

Are

2) Father
for=m

3) Nephew
T
4) Son

™
Correct Answer: Father
e

Candidate Answer: Father
EE

QID : 223 - The present ages of A and B are 32 years and 24 years respectively. What will be the ratio of ages of A and B after 8 years?

A AT B T TEET AT W 32 T AT 24 =T 31 8 = e A AT BT 9T W ST e g



Options:
1)5:4

2)4:3
3)3:2

4)6:5
Correct Answer: 5 : 4
Candidate Answer: 5: 4

QID : 224 - What is the net discount (in percentage) for two successive discounts of 20% and 60%?

20% =r 60% = = i gr v P (52) g (ol &) = ar
Options:

1) 80

2) 90

3)68

4)78
Cormrect Answer: 68
Candidate Answer: 68

QID : 225 - In the given question, there are four figures given out of which three are similar in some manner « d ons 'z not like the others. Select the figure which
is odd one out.
forr oy ®, | argfEat & wd F Frerd a e feeft o o & s o s @ s o s P 20 P ey e g

Options:
1)

O O
Candidate Answer:

A 0O
A
A O

QID : 226 - In the given question, there are four figures given out of which three are similar in some manner and one is not like the others. Select the figure which
is odd one out.

o e |, = ARt $owE ¥ fer 9 A fefr o o & amrr g A F o weree O i faer s g



Options:
1)

2)

3)

4

>
&
-~
5

Correct Answer:

Ié

Candidate Answer:

QID : 227 - In the given question, there are four fig . 2= ¢ ven out of which three are similar in some manner and one is not like the others. Select the figure which
is odd one out.

B e , =7 gt & wE g T 7 & v v v o7 A @ e v wEwre e i e et g m



Options:
1)

A 0O

O A

2)

4)

A 0O
A
A 0O

Cormrect Answer:

A O
A
A O

Candidate Answer:

A 0O
A
A 0O

QID : 228 - In the following question, select the missin; 1umbi@r from the given series.
23,25,28,32,34,37, 41,2

Frafofir s & R my et § 7 9 9 T 8

23,25,28,32,34,37,41, 7

Options:

1) 40

2)43

3) 44

4)45
Cormrect Answer: 43
Candidate Answer: 40

QID : 229 - In the following question, select the missing number from the given series.
41, 43, 46, 51, 58, ?
At wr 7 o my Frpeat ® & o 9 a Sfm

41, 43, 46, 51, 58, ?



Options:
1)62

2)69
3)73

4) 65
Correct Answer: 69
Candidate Answer: 60

QID : 230 -
In the following question, select the figure which can
be placed at the sign of guestion mark (?) from the
given alternatives.

Freatofam ua 3 fr ow foeeal & @ uw B
(?) & TU W A arel Pl B FAT

([T 2

Options:
1)

Il

2)

Cormrect Answer:

Il

Candidate Answer:

Il




QID : 231 -
In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

TR uy d Ry o et 7 @y e
(?) & TURT UT 3T AT NG A gl

AN Q‘?

Options:

O

2)

O

3)

O

[s]

Correct Answer:

O

Candidate Answer: [ NOT ANSWERED ]



QID : 232-
In the following guestion, select the figure which can

be placed at the sign of question mark (?) from the
given alternatives.

Prrafaita vy 3 Br ww Resal & @ uw R
(?) & TIE W A arel g H AT

CL SR L 2

Options:
1)

[k

2)

3)

4)

Correct Answer:

[k

Candidate Answer: [ NOT ANSWERED |

QID : 233 - In a certain code language, "PRISM" is written as "RTKUO". How is "TYRES" written in that code language?

e FEfire Fr AT |, "PRISM" =1 "RTKUO" o wram 1 z 1 Arar  "TYRES" =71 & wre ey smrm?
Options:
1) ZBCDS
2) VATGU
3) WTAUG

4) UBAHV
Cormrect Answer: VATGU
Candidate Answer: [ NOT ANSWERED ]

QID : 234 - In a certain code language, "TRANCHE" is written as "UOBKDEF". How is "BURGER" written in that code language?

w fAfire Fr= 9T #, "TRANCHE" %7 "UOBKDEF" Fmm RraT §1 2o #1294y % "BURGER" %7 s e ferar wmmm?



Options:
1) CRSDFO

2) BSRAFP
3) CSSCGN

4) CVSHFS
Correct Answer: CRSDFO
Candidate Answer: CRSDFO

QID : 235 - In a certain code language, "DRAW" is written as "10" and "RING" is written as "12". How is "REST" written in that code language?

e fAferg = 9 #, "DRAW" =1 "10" 747 "RING" %7 "12" feram wiar #1 = %= wrar 7 "REST" %1 Frer srvre feram wom?

Options:
1)9

2)6
3)8

47
Cormrect Answer: §
Candidate Answer: 8

QID : 236 - Which of the following is not a cash crop?

AT A I A A e w7
Options:

1) Cotton

FAT

2) Jute

=
3) Wheat

i

4) Sugarcane
=T

Correct Answer: Wheat

LS
Candidate Answer: Wheat
P

QID : 237 - Which country was the first to adopt a gold standa.« "~ "ne modern sense?

AT F W R T 7 Iger v I 5 AIAEr o B aqre
Options:

1) United States of America

2) France

T

3) UK

4) Italy

-

Correct Answer: UK

T

Candidate Answer: [ NOT ANSWERED ]

QID : 238 - How many banks were nationalised in the second phase of bank nationalisation?

B T AT e S W TR A0 w7 i gar °an?
Options:

1)5

2)4

3)3

4)6

Correct Answer: 6

Candidate Answer: 6



QID : 239 - Which five year plan in India gave emphasis on 'Growth with Social Justice and Equity'?

AT § B o= A § AT = i it A ferer o | f#Ere
Options:

1) gth

X

2) oth

9-#ft

3) 10t

10

4)11th

11-#ff

Correct Answer:
X

Candidate Answer: o
9t

gth

QID : 240 - Dual citizenship is a feature of =

=T AT o R &
Options:
1) Unitary Govt
TFTEHE TOETT
2) Parliamentary Govt
FRET ATETT
3) Federal Govt
wfrr wewT
4) Presidential Govt
T ATETT
Correct Answer: Federal Govt
wfry weT
Candidate Answer: Parliamentary Govt
A WO

QID : 241 - Which of the following is related to personal freedom?
Fraferfir % w1 =i w1 et 37
Options:

1) Habeas Corpus

T ST (iR F )

2) Certiorari

T (T

3) Prohibition

frirer (srafarer)

4) Mandamus

GrRTET (EREE)

Correct Answer: Habeas Corpus

AT ST (3R wiT) =
Candidate Answer: [ NOT ANSWER. D ]

QID : 242 - Which of the follo.. 2 = under the State List?
TR AR AT A T S 87

Options:

1) Agricultre

Al

2) Criminal Law

3) Education

Prar

4) Defence

&

Correct Answer: Agricultre
T

Candidate Answer: Education
forar

QID : 243 - In the Indian Constitution, which article mentions about establishment of welfare state for the people?

ATTAT FEET W, W o e T 7 FATTAT F AT H F A A AT AT 5P



Options:

1) 99

2)39

3) 59

4) 69

Correct Answer: 39

Candidate Answer: [ NOT ANSWERED ]

QID : 244 - Which was the largest Indian site of Indus Civilization?

TR ¥ 7 e R AT Fer e T AT
Options:

1) Lothal

T

2) Rakhigarhi

T

3) Dholavira

AT

4) Chanhundaro

=g

Correct Answer: Rakhigarhi
T

Candidate Answer: Rakhigarhi
T

QID : 245 - With whose permission did the English set up their first factory in Surat?

LR E A e e e B b e Pt e IR G DRl e B e

Options:
1) Jahangir

i

2) Akbar

AT

3) Shahjahan

g

4) Aurangzeb
rien

Correct Answer: Jahangir

AT

Candidate Answer: [ NOT ANSWERED ]

QID : 246 - Who is known as father of Local Self—gnvemment?:_

FATHIT T ¥ JHE FET T A @A A7
Options:

1) Lord Dalhausie

aiE

2) Balgangadhar Tilak
arereT e

3) Lord Ripon

e frow

4) No option is correct

1 e T &

Correct Answer: Lord Ripor,
i foae

Candidate Answer: [ NOT ANSWERED ]

QID : 247 - Who started the English weekly 'New India'?

Eferor TR =T S R o e e
Options:

1) Mahatma Gandhi

FRTEHT st

2) Bipinchandra Pal

fErfim= arer

3) Dada Bhai Naoroji

=TET ATE ATTAT

4) Lala Lajpat Rai

T T T

Correct Answer: Bipinchandra Pal
A= arer



Candidate Answer: Dada Bhai Naoroji
== TS AT

QID : 248 - Who established Nalanda Mahavihara?

ATEET WA i w77
Options:

1) Kumargupta

FHEH

?) Devgupta

=

3) Skandgupta
A

4) Vedgupta

Correct Answer: Kumargupta
FAEH

Candidate Answer: Kumargupta
A

QID : 249 - Dashavatara temple of Nagara style is located at which of the following places?

AT St T FomEETe wiET e v e fea 32
Options:

1) Badrinath

AT

2) Gorakhpur

bl o

3) Deogarh

e

4) Lalitpur

AtEE

Correct Answer: Deogarh

=TE
Candidate Answer: | NOT ANSWERED |

QID : 250 - Which of the following imaginary line almost divides India into{._n equal parts?

Fraforfira % #r £ oft Freafae T Ao ST enra =Y s A F EAree v g
Options: U
1) Tropic of Cancer

= Ty

2) Tropic of Capricorn

T T

3) Equator

e T

4) No option is correct

1 P i 7t &

Correct Answer: Tropic of Cancer

T T o

Candidate Answer: [ NOT ANSW cf & ]

QID : 251 - Which of the following water bodies separates the Andaman from Nicobar?

AT ¥ 97 7 AT e (AtET aidie) e i ST ST AenT wer 37
Options:

1) Andaman Sea

FETHA AT

2) Gulf of Mannar

W FF A

3) Palk Strait

I AATHTHET

4) 10 degree Channel

10 faft e

Correct Answer: 10 degree Channel
10 fft S

Candidate Answer: 10 degree Channel
10 fEfr e



QID : 252 - Which state is famous for the tropical forest of Silent Valley?

T AT T g A T a1 ¥ e ai 87
Options:

1) Goa

AT

2) Kerala

T

3) Kamnataka

FHAEE

4) Tamil Nadu

AHEETY

Correct Answer: Kerala
T

Candidate Answer: [ NOT ANSWERED ]

QID : 253 - According to the Census of India 2011, which of the following is the least populous state of India?

AT FF T 2011 F e, P # A AT e 7 e £ At aven e 27

Options:
1) Sikkim

2) Mizoram

e s

3) Goa

=

4) Tripura

By

Correct Answer: Sikkim

ferfger
Candidate Answer: [ NOT ANSWERED ]

QID : 254 - Which of the following states has the largest coal reserves of India?

Frafofias % # F19 A7 T S ST HeE A= F e S 8?2
Options:

1) Odisha

AtEem

2) Jharkhand

wEE

3) Assam

T

4) Madhya Pradesh

e T

Correct Answer: Jharkhand
ATET

Candidate Answer: [ NOT ANSWERED ]

QID : 255 - Which of the following i~we fa~ factors influence the mechanism of Indian weather?

Frafafirs & 7 £ A7 vt #1307 W F S F WA w7
Options:

1) Jet streams

2) El-Nino

Trer-ArAr

3) The shifting in the position of [TCZ
ArATeE i Rty § AT

4) All options are correct

it e T

Correct Answer: All options are correct
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - Which colour of light shows maximum deviation when passed through a prism?

= % e 7 e g a7 w1 A T w7 wwrer sty Freer framr 32



Options:
1) Violet
Euats

2) Red
e

3) Green

T
4) Yellow
frow

Correct Answer: Violet

Euats
Candidate Answer: Violet
Eunis

QID : 257 - Eclipses occur due to which optical phenomena?

T T (atfeoer) == FTo uE g 37
Options:

1) Refraction

AT

2) Reflection

afafEE

3) Diffraction

AT

4) No option is correct

1 Prrew e 7 &

Correct Answer: No option is correct
rE forrer et

Candidate Answer: [ NOT ANSWERED ]

QID : 258 - Which of the following parts of sunlight makes the solar cooker hot?

T ¥ e Feor & e e e T g 87
Options:
1) Ultra violet
e AT
2) Infrared
AT
3) Infra violet
T AT
4) No option is correct
v Prre oy 7 §
Correct Answer: Infrared
AT
Candidate Answer: [ NOT ANSWERED ]
|
QID : 259 - Carbohydrate is stored in the body 35—

FEIIZEE MO H % wTH AT v gl
Options:

1) Glycogen

AT AT

2) Sugar

T

3) Starch

=

4) Sucrose

A

Correct Answer: Glycogen

TATEF AT

Candidate Answer: [ NOT ANSWERED ]

QID : 260 - Which was the first enzyme isolated in pure crystalline form?

9]z RO (i) = % g ogem e (UeTEe) S A are



Options:
1) Catalase
‘le -l 5.'

2) Urease

3) Lipase

e

4) No option is correct
=1 e il 7 ¢
Correct Answer: Urease

=

Candidate Answer: | NOT ANSWERED |

QID : 261 - Which of the following is NOT a fuel element?

[ 11 o e e b i e o 1
Options:
1) Uranium

2) Thorium
A
3) Radium
fagzis

4) Helium
ey
Correct Answer: Helium

Fifery

Candidate Answer: [ NOT ANSWERED ]

QID : 262 - Which one of the following gases is extremely soluble in wate

FPrafafir e & @ == o o 5 gemefie 32
Options:

1) Carbon dioxide

TTHA TTEAFET

2) Chlorine

FATET

3) Hydrogen sulphide
ATZIAT FEHTTT

4) Ammonia

FRTTAET

Correct Answer: Ammonia

wIfAET
Candidate Answer: [ NOT ANSWERED ]

QID : 263 - The fundamental particles presen* in - *~ ucleus of an atom are

UF AT F AT AW Rm e #)
Options:

1) Electron, Proton

O, WA

2) Electron, Neutron

3) Neutron, Proton

=Tz, e

4) No option is correct

1% e wft 7 &

Cormrect Answer: Neutron, Proton
=TT, e

Candidate Answer: Neutron, Proton

QID : 264 - Which of the following species are critically endangered?

TPrer 7 31 # o oA T =T A O e (Feet i) 37



Options:

1) White bellied heron

=Tz TErE

2) River Terrapins

3) Cuban Kite

FETE Sfrer

4) All options are correct

Correct Answer: All options are correct
Candidate Answer: | NOT ANSWERED |

QID : 265 - Which of the following types of Coral Reefs are found in India?

AreR ¥ Tt & # f wwre & semer S (Freer fw) 9o A §7
Options:

1) Atoll

e

2) Fringing

AT i 7w (FRFa)

3) Barrier

4) All options are correct

wft e W F

Correct Answer: All options are correct
wreft P et &

Candidate Answer: [ NOT ANSWERED ]

QID : 266 - India has launched an Adopt a Heritage scheme as part of which initiative?

AT 7 B uge F = ° 9T =g So age | avear # opear #7137
Options:

1) Swadesh Yatra

TEZOT ATAT

2) Paryatan Parv

THEA T

3) Monument Mitra

lace AT e

4) Desh Videsh Yojana

o7 Rrer =TT

Correct Answer: Paryatan Parv

THEA T

Candidate Answer: Desh Videsh Yojana
oy FEror =T

QID : 267 - Which Indian state became the fire' to Erporate skill development programme in higher education?

g frar ¥ #rorer Rrerer wviws 57 i =~ Tew aFen v F9 a7 T
Options:

1) Rajasthan

AT

2) Gujarat

AT

3) West Bengal

qEETH Hr

4) Odisha

arfEom

Correct Answer: Rajasthan
AT

Candidate Answer: Gujarat
T

QID : 268 - WHO has released new guidelines to prevent which global epidemic in October 20177

szee 2017 W =eeqm=Et A T AT werard w1 T F o A Fenfrer e B 32



Options:

1) Childhood obesity
T FT HETIT

2) Lung cancer
TEET FTEAT

3) SARS

i

4) Zika

Eikas

Correct Answer: Childhood obesity
T FT HETIT

Candidate Answer: | NOT ANSWERED |

QID : 269 - Which planet was discovered by NASA's MAVEN to have a twisted magnetic tail?

AT ¥ A T B ag w7 g of, T vw i gg Safm w9
Options:

1) Venus

fﬂ'ﬁ

2) Mars

T

3) Saturn

L

4) Neptune

i o

Correct Answer: Mars

s

Candidate Answer: Neptune
i ol

QID : 270 - Which country has recently declared Yoga as sports activity?

BT ZoT & grer & H T o Aer qiAETT ¥ = F 5 G g
Options:

1) India

i

2) Iran

e

3) Saudi Arabia

AT AT

4) Iraq

=TE

Correct Answer: Saudi Arabia
FE AT

Candidate Answer: [ NOT ANSWERED ]

QID : 271 - Which country becomes smallest r..fion ever to enter FIFA World Cup in October 20177

FzAT 2017 W T Bpa w7 § wEer S 87 ¢ a9 iy 97 S 9-A ahr?
Options:

1) Iceland

E i 4

2) Maldives

W

3) Monaco

AT

4) Ethiopia

1

Correct Answer: Iceland

arzEAE
Candidate Answer: Ethiopia

QID : 272 - Which of India's neighboring countries celebrates its National Day on March 267

26 WIS ST AT FT FI AT TEAT T97 7 A7 v e wevar 27



Options:

1) Pakistan

kuczzicd

2) Sri Lanka

ot wT

3) Nepal

AT

4) Bangladesh

FTETEeT

Correct Answer: Bangladesh
LT

Candidate Answer: | NOT ANSWERED |

QID : 273 - Kandy, Jaffna and Galle are all towns situated in which of the following countries?

Frafofira % # e Zor § 9%, S st mer 7t orge e 87
Options:

1) Nepal

T

2) Pakistan

kukaciod

3) Srilanka

oft =T

4) Bhutan

SETT

Correct Answer: Srilanka
ofr T

Candidate Answer: Bhutan
ST

QID : 274 - Who has been honoured with the Vishnudas Bhave Award 20177

FErevprer svEr qreTe 2017 ¥ R e e T 8
Options:

1) Mohan Joshi

wrg At

2) Sandeep Patil

wErT Tt

3) Dilbag Singh

frETT g

4) Aditya Thakre

aiE=T T

Correct Answer: Mohan Joshi

wrg At

Candidate Answer: Aditya Thakre

e BT e

QID : 275 - Which Indian has been honou. ea . 5 the 'Entrepreneur of the Year 20177

fer et #2017 ¥zt 7 e B et T 82
Options:

1) Mukesh Ambani

T AT

2) Azim Premji

AR AT

3) Maya Swaminathan Sinha

AT AT e

4) Sunil Mittal

wpfrer fersrer

Correct Answer: Maya Swaminathan Sinha
AT T e

Candidate Answer: | NOT ANSWERED |

QID : 276 - India's Sovereign Rating was upgraded by the rating agency Moody after a gap of almost how many years in 20177

ERTT T #Tel F A = 2017 F * T Ut qgF 7 e F A dEw wr g



Options:
1) 12 years
12 =7

2) 14 years
14 =7

3) 16 years
16 =T

4) 18 years
18 =7
Correct Answer: 14 years
14 =7

Candidate Answer: | NOT ANSWERED |

QID : 277 - Which Indian economist has been appointed to the Financial Stability Institute Advisory Board of the Bank of International Settlement?

T AT, AT AEOTHE AT BT TR AT AR e e v fer A s e fen o 32
Options:

1) Raghuram Rajan

2) Arvind Pangarhia

3) Urjit Patel

4) Mo option is correct

Correct Answer: Lijit Patel

Candidate Answer: [ NOT ANSWERED |

QID : 278 - India was re-elected on the executive board of which UM body on November 10, 207

AT 10 FEvEE 2017 F1 L T2 A F fe aepefy Grerr F serery e 7 fe 7 frapfe gae
Qptions:

1) UNESCO

—- -

2)10

ATT T AT

3) FAD

T T AT

4)IDA

ATTET

Correct Answer: UNESCO
T

Candidate Answer: FAD
T T AT

QID : 279 - Who took over as the new Precide 't of Zunbabwe on after Robert Mugabe in November 20177

AT 2017 | 1A waa F aE TAmrer x v mafy &7 v fe aem e
QOptions:

1) Joice Mujuru

2) Emmerson Mnangagwa

TR HETRTTT

3) Morgan Tsvangirai

4) Mo option is correct

T o FErT A A E

Correct Answer: Emmerson Mnangagwa

TTHAA HEATRTTAT

Candidate Answer: | NOT ANSWERED |

QID : 280 - NGT has directed which of the following state government to seize 10 vear old diesel taxi?

AT 7 R § 7 & e v 17 10 A AT e w57 357 g 57 ey e i



Options:

1) Mumbai

Tt

2) Chennai

=T

3) Kolkata

T

4) Delhi

ot

Correct Answer: Delhi
fRreedt

Candidate Answer: Delhi
et

QID : 281 - EESL has partnered with which global body to create a low emission economy?

EErrerrer (EESL) # Fer eirerer A4t 1 W7 ST 9= T F for sarfrarst #F 3?7
Options:

1) Global Environment Facility

Afsr oA A

2) International Atomic Energy Agency

3) World Energy Council

g =T O

4) International Renewable Energy Agency
FACTET AT T THAT

Correct Answer: Global Environment Facility
Afzr o A

Candidate Answer: [ NOT ANSWERED ]

QID : 282 - Who has been appointed as the governor of Tamil Nadu in September 20177

e 2017 F Af¥wETT ¥ e ¥ = § F fregen e e
Options:

1) Satyapal Malik

T Wi

2) Keshari Math Tripathi

rorft ATy By

3) Banwarilal Purchit

TAAT AT T

4) C Vidyasagar Rao

A RrerremT T

Correct Answer: Banwarilal Purohit
TAATHAT A

Candidate Answer: [ NOT ANSWERED ]

QID : 283 - Audrey Azoulay, the Director Gene sl of LiESCO belongs to which of the following countries?

THEET & WETRETE ¥ wT W g ate vw o R 2r o et 8?7
Options:

1) France

T

2) Germany

HEAT

3) Italy

T

4) Austria

ez

Correct Answer: France
FT

Candidate Answer: Italy
A

QID : 284 - Which of the following cities got India's first World Heritage City tag from UNESCO?

Frafofiaa % # e orge F1 Ter 7 Ao w1 agem Bpa R sge w51 & frew 82



Options:

1) New Delhi

7% et

2) Lucknow

A

3) Patna

TEAT

4) Ahmedabad

AR,

Correct Answer: Ahmedabad
agHaTY

Candidate Answer: Ahmedabad
AT

QID : 285 - Which of the following will be the India's first carbon neutral district?

Frafrfara % 1 F A7 A w7 Tgen w0 wga e gm?

Options:
1) Jaipur

L
2) Patna
T=AT
3) Majuli

AT

4) No option is correct
1% Py w7
Correct Answer: Majuli

AT

Candidate Answer: Jaipur
Rk A

QID : 286 - What will be the remainder when the largest two digit prime number is dividgd-l?y_'(

=7 3T F T TE AATET AT 6 A ErATHT F O ST 9y g
Options:

1)1

2)5

3)2

4)3

Correct Answer: 1

Candidate Answer: 1

QID : 287 - How many numbers are there from 1 to 7Qgwhich contain the digit 67

19 70 =% Tt wevsi & 5% 6 AT 37

3)19

4)20

Cormrect Answer: 17
Candidate Answer: 17

QID : 288 -

; 1 1 1 1 1
o 2 = = =
What is the value of 992+996+99T2+9920+9930.

1 1 1 1 1
i oy L Lot == i
992+998+9912+9920+9930EFI?ITETEFIIT %

Options:

1) 2975/6

2) 1995/7

3) 3925/7

4) 1649/21

Correct Answer: 2975/6
Candidate Answer: 2975/6



QID : 289 - How many numbers are there from 150 to 200 which are divisible by 97

150 #r 200 = freft Fr=er wrmt g 7 9 7 P 27
Options:

1)4

2)5

2)6

4)8

Correct Answer: 6

Candidate Answer: &

QID : 290 -

(0.512+0.027)

What is the value of - - f
(0.8)" +(0.3)°-0.24

(0.512+0.027)

(0.8)° +(0.3)°-0.24 SRR

Correct Answer: 1.1
Candidate Answer: 0.8

QID : 291 - 60% of 40% of a number is equal to 96. What is the 48% of that number?

T #Z & 40% FT 60%, 96 ¥ WITET 1 TH HEAT T 48% FW 7
Options:

1) 166

2)212

3) 176

4)192

Correct Answer: 192

Candidate Answer: 192

QID : 292 - The ratio of incomes of Manish and Pankaj is 11 : . If P 'kaj gets Rs 6000 less than Manish, then what is the total income (in Rs) of Manish and
Pankaj?

W AT T AT AT 11 0 7 %) 3 O T v 7 6080 % FW WA g0 F, A AT 79T 0w £ 3o AT (7 H) e g7
Options: -

1) 18000

2) 27000

3) 36000

4) 28000

Correct Answer: 27000

Candidate Answer: [ NOT ANSV. A1 |

QID : 293 - Average of 3 numbers is 12. First number is 6 less than the average of the other two. Third number is 6 more than the average of other two. What is
the difference between first and third number?

3 Tt FT A 12 31 T we ovy = AT e 7 6 T 3 Frert we ivg =2 oA ol 7 6 wferw § wreht war e wem F i w v e 3
Options:

1)8

2)4

3)6

4)10

Cormrect Answer: §

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - At simple interest, a sum amounts to Rs 882 in 2 years and amounts to Rs 1018.5 in 3.5 years. What is the rate of interest (in percentage)?

FTLTOO STH T, W 0T 2 =T 0 882 % FY WA g A4 3.5 =i 7 1018.5 % g Wit 31 s i = (wfEera ®) w=v 37





